

http://dx.doi.org/10.1103/PhysRevB.77.144401

f oy he aragaeicla é =71, . The le.~.g h tris aa effec-
i edlsa.-ceo & hich hec {em is ass 4,€d o.,,al aia
A'S
@51 AdE ec 1o.~.alvivo he gL, ic la e; is ass..,,e ®
B civhal e ia ‘Ffex di CC[]OAS WI‘P‘:. el efe. ® [he
feglon ah-/ . b &4 he .48C0. alct e edh he FLURNG
.-.ega1\§ dn ec iemaleag he axis.
We calcilae he s;im ace yar .kla 101 dke ° cm“e “.W
h o2 h a fe! e4agse Jél:.g he sa.,,e ar€ hod desc ibed 1A
kef 4. We cu.slde. he beha 10\ of he s;imacc; far .La 10nin

[he 20 AL, inles;oase [o a :‘:.J‘ﬂf.. ar 4raZaE hatlo:.

M=M_3 Wheme M is the sa, a‘atlo:. .,,‘ag:ﬁtuatu:. As



> ; I

Je ! =5 F< H '“t trHt+tr+D,” '
D, ¢,
"H™t,~ 'H "+1,+D,
_ 1 ,
. —H: H




Silar age asgle ¥y 90°. The eo; ;axels de;ic, he s;aial
. . ~
diaenef # a_ as;ecthc ise, axd hele & jasels she

Id . Il r W .
eexg dessi fe eachsae. Theesc g'dessi E <,
Es calc klai%d b [gki.».g he i.E,é a_ ¢ age of & s ﬁﬁ%d ardg-

iF3.01t .kdeTB"lggt.97800tl 005.978061 226.7 14iT6(Ka 101226.7184TJETBT9.978001009.97800110191.8



dii“i.p.gﬁe .ke:cx
a



This ealised



75,7¢” ’ICLdCC-d(ﬁ’?

A2

hich e jse as he @ ienaionof he losgi ydisal s;imac-
¥y, ilales The o al ;i 3 ienis
jarylafos The e al sjiaacc yuryla ioais

=+ om0 +mt b, =3 V44,
A3

hez e h? lo.agi .l‘di“ﬂl s ?,i.p.racc far 'kla[i"“ is [he S far of the
) ib RLES f @, each im€ face =0 a~xd =7. )
Fe a jaifé, a;lied held of he fo, 4
= £ sia 6, ces i, ,sim 0, sim i, ,ces 6, , he dis;€ sien
T;elatio:. fo. exchasge s;im Wa £ iaa thi.».‘]-. Ly is

W= 7+ fices 0.7 0, ~ces 0,

><7]L2.+ﬂ,<cos 6(,_6* _c0526/ s A4

hé e 0. is the e nélili i far 4rag.~ﬁti7atio:. seld asgle satis-
Fisg fsin0. M isin20, =0.

We b ielws disc iss I[}ie :.a‘:ﬁ.. ical .hethod Yge ha \E .n‘seq io
sol‘g E . 277 The ;ela cee dl.»ate s SCar 15 a ;a ic ﬂa
efhciemand acc".ate cheice fe .p.a%co ac siﬂ».klatio .
The discﬁ'etixa[io:. e e is :p:..k».ifo? ar 1t adis sk,
axd @ 'ké » o 1ds Xfad .kaifof ar 14 angle:

1
= U2 Sy 12

1
+E Tede Aoy W la

Ca A+ 112 -
X cesh -——— cesh °*
4



Ly ﬂ‘?ll “o1+ a3

=<l !

(2
+ cAE 2 7J_+;7J_

rn
2m

0

1

0

L ‘R='vd=',

[ TR N T N AR

hée 4E 2 = 37 o/ Pde gy and E is he celee

i Jic izegial of he seced kiad.



